

Informazione Regolamentata n. 20250-98-2025

Data/Ora Inizio Diffusione 17 Novembre 2025 17:45:12

**Euronext Milan** 

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

212058

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : REGEM

Data/Ora Ricezione : 17 Novembre 2025 17:45:12

Data/Ora Inizio Diffusione : 17 Novembre 2025 17:45:12

Oggetto : WEEKLY PRESS RELEASE ON TREASURY

SHARES BUYBACK PLAN

# Testo del comunicato

Vedi allegato









## PRESS RELEASE

## WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). *November 17, 2025* - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "**Company**" or "**Technoprobe**") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from November 10, 2025 to November 14, 2025, of n. 130,000 ordinary shares (equal to 0.01990% of the share capital) at the weighted average price of Euro 10.19772 for a total value of EUR 1,336,025.80.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
10/11/2025	40,000	8.88358	355,343.20
11/11/2025	20,000	9.77962	195,592.40
12/11/2025	20,000	10.70976	214,195.20
13/11/2025	50,000	11.4179	570,895.00
14/11/2025	0	///	///

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at November 14, 2025 the Company owns 11,614,872 ordinary shares (equal to 1,77798% of the share capital).

\*\*\*

This press release is available on Technoprobe's website <a href="https://www.technoprobe.com">https://www.technoprobe.com</a> in the Investor Relations section and on the authorized storage system named eMarket Storage" (<a href="www.emarketstorage.it">www.emarketstorage.it</a>).









#### Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

### Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

# **Technoprobe Group**

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com









Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZIQWZ2	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.89	44	391.16
1ZAZIQWZ3	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.895	103	916.185
1ZAZIQWZ4	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.895	343	3050.985
1ZAZIQWZ5	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.9	90	801
1ZAZIQWZ6	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.9	93	827.7
1ZAZIQWZ7	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.9	106	943.4
1ZAZIQWZ8	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.9	1,670	14863
1ZAZIQWZ9	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.9	343	3052.7
1ZAZIQWZA	10/11/2025	14:09:44	Buy	IT.ico	MTA	TPRO	8.9	208	1851.2
1ZAZIQZRQ	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.88	212	1882.56
1ZAZIQZRR	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.88	143	1269.84
1ZAZIQZRS	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.88	453	4022.64
1ZAZIQZRT	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.885	757	6725.945
1ZAZIQZRU	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	31	275.59
1ZAZIQZRV	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	91	808.99
1ZAZIQZRW	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	96	853.44
1ZAZIQZRX	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	732	6507.48
1ZAZIQZRY	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	344	3058.16
1ZAZIQZRZ	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	3,300	29337
1ZAZIQZS0	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	3,951	35124.39
1ZAZIQZS1	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	1,049	9325.61
1ZAZIQZS2	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	164	1457.96
1ZAZIQZS3	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	63	560.07
1ZAZIQZS7	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	218	1938.02
1ZAZIQZS8	10/11/2025	15:39:05	Buy	IT.ico	MTA	TPRO	8.89	396	3520.44
1ZAZIR0JS	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.875	112	994
1ZAZIR0JT	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.875	112	994
1ZAZIR0JU	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.875	98	869.75
1ZAZIR0JV	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	17	150.96
1ZAZIR0JW	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	407	3614.16
1ZAZIR0JX	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	103	914.64
1ZAZIR0JY	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	108	959.04
1ZAZIR0JZ	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	4,489	39862.32
1ZAZIR0K0	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	4,112	36514.56
1ZAZIR0K1	10/11/2025	15:56:35	Buy	IT.ico	MTA	TPRO	8.88	442	3924.96
1ZAZIR2KY	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.865	155	1374.075

**Technoprobe S.p.A.** - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









1ZAZIR2KZ	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.865	532	4716.18
1ZAZIR2L0	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.865	116	1028.34
1ZAZIR2L1	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.87	157	1392.59
1ZAZIR2L2	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.87	108	957.96
1ZAZIR2L3	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.87	113	1002.31
1ZAZIR2L4	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.87	105	931.35
1ZAZIRZL4	10/11/2025		Buy	IT.ico	MTA	TPRO	8.875	98	869.75
1ZAZIRZLS  1ZAZIRZL6		16:57:57	,		MTA				
	10/11/2025	16:57:57	Buy	IT.ico		TPRO	8.875	109	967.375
1ZAZIR2L7	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.875	110	976.25
1ZAZIR2L8	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.875	407	3612.125
1ZAZIR2L9	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	200	1776
1ZAZIR2LA	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	407	3614.16
1ZAZIR2LB	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	112	994.56
1ZAZIR2LC	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	102	905.76
1ZAZIR2LD	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	118	1047.84
1ZAZIR2LE	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	1,385	12298.8
1ZAZIR2LF	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	3,955	35120.4
1ZAZIR2LG	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	3,865	34321.2
1ZAZIR2LH	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	2,418	21471.84
1ZAZIR2LI	10/11/2025	16:57:57	Buy	IT.ico	MTA	TPRO	8.88	428	3800.64
1ZAZIRF8B	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.77	200	1954
1ZAZIRF8C	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.77	83	810.91
1ZAZIRF8D	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	64	625.6
1ZAZIRF8E	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	75	733.125
1ZAZIRF8F	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	70	684.25
1ZAZIRF8G	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	85	830.875
1ZAZIRF8H	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	400	3910
1ZAZIRF8I	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	62	606.05
1ZAZIRF8J	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.775	202	1974.55
1ZAZIRF8K	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	200	1956
1ZAZIRF8L	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	398	3892.44
1ZAZIRF8M	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	75	733.5
1ZAZIRF8N	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	65	635.7
1ZAZIRF8O	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	76	743.28
1ZAZIRF8P	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	1,655	16185.9
1ZAZIRF8Q	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	3,500	34230
1ZAZIRF8R	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	3,345	32714.1
1ZAZIRF8S	11/11/2025	12:23:31	Buy	IT.ico	MTA	TPRO	9.78	1,500	14670
								1	

**Technoprobe S.p.A.** - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









12AZISBY	1ZAZIRFGQ	11/11/2025	12:30:44	Buy	IT.ico	MTA	TPRO	9.78	7,945	77702.1
Taribana				,					· ·	
12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   592   6:340.32     12/12/12/12/12/12/12/12/12/12/12/12/12/1				,						
12AZISBYC				,						
12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   3.911   41886.81     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   671   7186.41     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   653   6993.63     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   653   6993.63     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   605   6479.55     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   605   6479.55     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   605   6479.55     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   602   877.4     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2140     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2,178   23326.38     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2,178   23326.38     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2142     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2142     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2142     12/12/25   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2142     12/12/25   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   178   1906.88     12/12/25   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   178   1906.88     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   10.71   178   29029     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   11.41   200   40000     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12/12/25   16:49:16   Buy   IT.ico   MTA   TPRO   11.44   661   436921     12/12/25   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   661   436921     12/12/25   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   661   436921     12/12/25   13/11/				,						
12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10:71   671   7186.41     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10:71   653   6993.63     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10:71   3:911   41886.81     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10:71   3:911   41886.81     12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10:71   605   6479.55     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   605   6479.55     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   200   2140     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:178   23326.35     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:178   23326.35     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:178   23326.35     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:178   23326.35     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:178   23326.35     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:178   19:63.85     12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:121   2:715.91     12/12/13/24/24   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   10:71   2:121   2:715.91     12/12/13/24/14   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:41   2:33   4:39:65     12/12/13/24/14   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:41   2:13   4:39:65     12/12/13/WRL   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:42   4:73   2:99:29     12/12/13/WRL   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:42   4:740   2:209:00     12/12/13/WRL   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:42   4:740   2:209:00     12/12/13/WRL   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:42   4:740   2:209:00     12/12/13/WRL   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:42   4:740   2:209:00     12/12/13/WRL   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11:41   6:16   3:76:25     12/12/13/WRL   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO				,						
12AZIS8YF   12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   653   6993.63     12AZIS8YG   12/11/2025   16:00:37   Buy   IT.ico   MTA   TPRO   10.71   3,911   41886.81     12AZIS8YH   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   605   6479.55     12AZIS8ZK   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   605   6479.55     12AZIS8ZK   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2140     12AZIS8ZK   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   41   49.11     12AZIS8ZK   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   41   49.11     12AZIS8ZM   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2.178   23326.38     12AZIS8ZN   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2.00   2142     12AZIS8ZO   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2.00   2142     12AZIS8ZP   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2.121   22715.91     12AZISWRH   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   10.71   2.121   22715.91     12AZISWRH   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.41   200   40000     12AZISWRH   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   173   45369     12AZISWRK   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   470   22090     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4,948   24482704     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   3,410   11628100     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   3,410   11628100     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   3,410   11628100     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   3,410   11628100     12AZISWRM   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   661   436921     12AZISWBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   661   436921     12AZISKBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   T				,					·	
12AZISBYG				,						
12AZISBYH				,						
12AZISSZJ   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.7   82   877.4     12AZISSZK   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.7   200   2140     12AZISSZL   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   41   439.11     12AZISSZM   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2,178   23326.38     12AZISSZN   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   200   2142     12AZISSZO   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   178   1906.38     12AZISSZP   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   178   1906.38     12AZISSZP   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.71   2,121   22715.91     12AZISWRH   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.41   200   40000     12AZISWRH   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.41   213   45369     12AZISWRK   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   173   29929     12AZISWRK   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   173   29929     12AZISWRK   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12AZISWRM   13/11/2025   16:49:16   Buy   IT.ico   MTA   TPRO   11.42   4.948   24482704     12AZISWRW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.42   3.410   11628100     12AZISWRW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   500   250000     12AZISXBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   616   436921     12AZISXBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   616   436921     12AZISXBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   616   436921     12AZISXBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.41   616   436921     12AZISXBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.42   470   220900     12AZISXBW   13/11/2025   17:02:19   Buy   IT.ico   MTA   TPRO   11.42   4				,						
TAZISBZK   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10.7   200   2140										
Tazisszl				,						
Tazisazm										
Tazisszn										
TAZISSZO				,					T.	
Tazisar   12/11/2025   16:01:03   Buy   IT.ico   MTA   TPRO   10:71   2:121   22715:91	1ZAZIS8ZO	12/11/2025		,	IT.ico	MTA		10.71		
Taziswri	1ZAZIS8ZP	12/11/2025	16:01:03	Buy	IT.ico	MTA	TPRO			22715.91
1ZAZISWRJ         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         173         29929           1ZAZISWRK         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         586         343396           1ZAZISWRL         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         4,948         24482704           1ZAZISWRM         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         4,948         24482704           1ZAZISWRN         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         4,70         220900           1ZAZISWRN         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         4,70         220900           1ZAZISXBU         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496 <th>1ZAZISWRH</th> <th>13/11/2025</th> <th>16:49:16</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>11.41</th> <th>200</th> <th>40000</th>	1ZAZISWRH	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.41	200	40000
TZAZISWRK         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         586         343396           TZAZISWRL         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         4,948         24482704           TZAZISWRM         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         470         220900           TZAZISWRN         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         3,410         11628100           TZAZISXBU         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         200         40000           TZAZISXBV         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           TZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           TZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225	1ZAZISWRI	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.41	213	45369
1ZAZISWRL         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         4,948         24482704           1ZAZISWRM         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISWRN         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         3,410         11628100           1ZAZISXBU         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         200         40000           1ZAZISXBV         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         500         250000           1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXBZ         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225	1ZAZISWRJ	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.42	173	29929
1ZAZISWRM         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISWRN         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         3,410         11628100           1ZAZISXBU         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         200         40000           1ZAZISXBV         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         500         250000           1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016     <	1ZAZISWRK	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.42	586	343396
1ZAZISWRN         13/11/2025         16:49:16         Buy         IT.ico         MTA         TPRO         11.42         3,410         11628100           1ZAZISXBU         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         200         40000           1ZAZISXBV         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         500         250000           1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXBZ         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900     <	1ZAZISWRL	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.42	4,948	24482704
1ZAZISXBU         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         200         40000           1ZAZISXBV         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         500         250000           1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         583         339889	1ZAZISWRM	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.42	470	220900
1ZAZISXBV         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.4         740         547600           1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         500         250000           1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXCD         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121 <th>1ZAZISWRN</th> <th>13/11/2025</th> <th>16:49:16</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>11.42</th> <th>3,410</th> <th>11628100</th>	1ZAZISWRN	13/11/2025	16:49:16	Buy	IT.ico	MTA	TPRO	11.42	3,410	11628100
1ZAZISXBW         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         500         250000           1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXBZ         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225           1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         14,588         2.13E+08	1ZAZISXBU	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.4	200	40000
1ZAZISXBX         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         636         404496           1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXBZ         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225           1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         583         339889           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXD7         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         114         12996 <th>1ZAZISXBV</th> <th>13/11/2025</th> <th>17:02:19</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>11.4</th> <th>740</th> <th>547600</th>	1ZAZISXBV	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.4	740	547600
1ZAZISXBY         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         661         436921           1ZAZISXBZ         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225           1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         583         339889           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXC4         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         14,588         2.13E+08           1ZAZISXD8         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         263         69169	1ZAZISXBW	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.41	500	250000
1ZAZISXBZ         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         615         378225           1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         583         339889           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXC4         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         14,588         2.13E+08           1ZAZISXD7         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         114         12996           1ZAZISXD8         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         263         69169	1ZAZISXBX	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.41	636	404496
1ZAZISXC0         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.41         496         246016           1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         583         339889           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXC4         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         14,588         2.13E+08           1ZAZISXD7         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         114         12996           1ZAZISXD8         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         263         69169	1ZAZISXBY	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.41	661	436921
1ZAZISXC1         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         470         220900           1ZAZISXC2         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         583         339889           1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXC4         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         14,588         2.13E+08           1ZAZISXD7         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         114         12996           1ZAZISXD8         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         263         69169	1ZAZISXBZ	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.41	615	378225
1ZAZISXC2       13/11/2025       17:02:19       Buy       IT.ico       MTA       TPRO       11.42       583       339889         1ZAZISXC3       13/11/2025       17:02:19       Buy       IT.ico       MTA       TPRO       11.42       511       261121         1ZAZISXC4       13/11/2025       17:02:19       Buy       IT.ico       MTA       TPRO       11.42       14,588       2.13E+08         1ZAZISXD7       13/11/2025       17:02:37       Buy       IT.ico       MTA       TPRO       11.39       114       12996         1ZAZISXD8       13/11/2025       17:02:37       Buy       IT.ico       MTA       TPRO       11.39       263       69169	1ZAZISXC0	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.41	496	246016
1ZAZISXC3         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         511         261121           1ZAZISXC4         13/11/2025         17:02:19         Buy         IT.ico         MTA         TPRO         11.42         14,588         2.13E+08           1ZAZISXD7         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         114         12996           1ZAZISXD8         13/11/2025         17:02:37         Buy         IT.ico         MTA         TPRO         11.39         263         69169	1ZAZISXC1	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.42	470	220900
1ZAZISXC4       13/11/2025       17:02:19       Buy       IT.ico       MTA       TPRO       11.42       14,588       2.13E+08         1ZAZISXD7       13/11/2025       17:02:37       Buy       IT.ico       MTA       TPRO       11.39       114       12996         1ZAZISXD8       13/11/2025       17:02:37       Buy       IT.ico       MTA       TPRO       11.39       263       69169	1ZAZISXC2	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.42	583	339889
1ZAZISXD7     13/11/2025     17:02:37     Buy     IT.ico     MTA     TPRO     11.39     114     12996       1ZAZISXD8     13/11/2025     17:02:37     Buy     IT.ico     MTA     TPRO     11.39     263     69169	1ZAZISXC3	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.42	511	261121
1ZAZISXD8 13/11/2025 17:02:37 Buy IT.ico MTA TPRO 11.39 263 69169	1ZAZISXC4	13/11/2025	17:02:19	Buy	IT.ico	MTA	TPRO	11.42	14,588	2.13E+08
	1ZAZISXD7	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.39	114	12996
<b>1ZAZISXD9</b> 13/11/2025 17:02:37 Buy IT.ico MTA TPRO 11.4 567 321489	1ZAZISXD8	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.39	263	69169
	1ZAZISXD9	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.4	567	321489

**Technoprobe S.p.A.** - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









1ZAZISXDA	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.4	661	436921
1ZAZISXDB	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.4	134	17956
1ZAZISXDC	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.41	178	31684
1ZAZISXDD	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.41	125	15625
1ZAZISXDE	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.41	661	436921
1ZAZISXDF	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.41	496	246016
1ZAZISXDG	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.42	10,412	1.08E+08
1ZAZISXDH	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.42	660	435600
1ZAZISXDI	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.42	636	404496
1ZAZISXDJ	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.42	1,866	3481956
1ZAZISXDK	13/11/2025	17:02:37	Buy	IT.ico	MTA	TPRO	11.42	3,227	10413529

Fine Comunicato n.20250-98-2025

Numero di Pagine: 8